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26. Identify the correct meaning of the underlined part.
Every mortal has to pay the debt of nature one day.
(1) to bear the expenses (2) todie
(3) to face difficulties (4) to return his money
27.  What does the underlined modal auxiliary suggest ?
You can go now.
(1) Permission (2) Possibility
(3) Ability (4) Request
28, Select the correct alternative to complete the sentence meaningfully.
Plans may _ due to insufficient funds.
(1) fall out (2) fall apart
(3) fall off (4) fall through
29.  Choose the correct word.
His handwriting is not .
(1) legible (2) eligible
(3) ineligible (4) illegal
30. Identify the correct sentence.
a. The flowers smell sweet.
b.  She looks charmingly.
(1) aonly (2) bonly (3) Bothaandb (4) Neitheranorb
31. Choose the correct sentence from the options given.
(1) He prevented me to go their.
(2) He prevented me going.
(3} He prevented me from going there.
(4) He prevented me for going there.
32. Identify the sentences punctuated correctly.

a. Ilike poems, stories and prose.

b. Mango, apple, date, almond, walnut, watermelon, ete. are useful fruits.
c. I'woke up; I got out of bed.

(1} aandconly (2) aandbonly

(3) bandconly (4) All of the above

FoeaT FHTATSI SR / SPACE FOR ROUGH WORK
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33. Choose the correct pronoun.
___ doyouwishtosee?
(1) Who (2) Whom (3) Whose {(4) None of the above
34.  Choose the correct question tag(s).
a. We must gonow, mustn’t we ?
b.  You aren’t leaving, aren’t you ?
¢.  You can drive, can’t you ?
(1) aandconly (2) bandconly (3) conly (4) a,bandc
35. Identify the correct passive voice of the given sentence.
What do you do now ?
(1) What has been done by you, now ?
(2) What is being done by you, now ?
(3) What are you doing now ?
(4) What has been being done by you, now ?
36.  Choose the best indirect form of the given sentence.
“Do you suppose you know better than your own father ?” jeered his angry mother.
(1) His angry mother jeers and asks whether he supposed that he knew better
than his own father.
(2) His angry mother jeered and asked that he supposed whether he knew better
than his own father.
(3) His angry mother jeered and asked whether he supposed that he knew better
than his own father.
(4) His angry mother jeered and asked whether he supposed that he knows better
than his own father.
37.  Identify the correct indirect narration of the sentence given below :
He says, “1 am working hard.”
(1) He said that he was working hard. (2) He says that he is working hard.
(3) He says he is working hard. (4) He said that he is working hard.
38. Identify the clause underlined.
Those who are honest succeed in life.
(1) Noun clause (2) Adjective clause
(3) Adverb clause of reason (4) Adverb clause of condition
39. Change the voice.

Mr. Krishnaji teaches us gramimar.

(1) Grammar teaches us Mr. Krishnaji.

(2) We are taught grammar by Mr. Krishnaji.
(3) We are taught by Mr. Krishnaji, grammar.
(4) Grammar teaches us by Mr. Krishnaji.

Foeq] HHTATS! SR / SPACE FOR ROUGH WORK P.T.O.
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Read the following passage carefully and answer the questions given below it :

Since the most ancient times India has been not only periodically invaded by greedy
hordes, but alsoe visited by tradesmen and travellers, scholars and sight-seers. Some of them
have written books. The books of these writers have become all the more important because
there are not too many of them, and they have served as rich sources for the historians. It is
especially in this context that observations provided by the great Chinese writer Hiuen
Tsang became very relevant.

Already in the 7th century, Buddhism was a powerful cultural force among the educated
classes of China. It was common for Chinese pilgrims to come to India, the native land of
the Buddha, to pay their respects to the founder of their religion. Perhaps the most famous
of them all was this gentle observer who has studied and travelled extensively in China
before entering the Indian sub-continent. Being both schelarly and sophisticated, he was
not given to easy praise. Within India itself he traversed deserts and climbed mountains,
stayed in villages and lived in capitals, practised in monasteries and studied in universities
and spent time in some royal courts as well.

- He went to Mathura and Ayodbya, to Prayag and Pataliputra, to Gaya and Kamarupa.
He studied Sanskrit and Pali to delve deeper into Buddhist philosophy and Hindu
traditions. Most important of all, he wrote down in detail his many experiences and
impressions.

40.  The purpose of Hiuen Tsang to travel to India was
(1) to study the influence of Buddhism on Hindu religion.
(2) to spread his religion in India.
(3) to undertake pilgrimage and enhance knowledge.
{4) to study powerful cultural forces in India.

41.  Which of the following has been considered as the real contribution of Hiuen Tsang ?
(1) He meticulously recorded his experiences and feelings.
(2) He pointed out the impact of Hinduism on Buddhism.
(3) He visited and spent time in many places in India.
(4) He influenced the clite in China te visit India.

42.  The writings of Hiuen Tsang are considered as relevant because
(1) he had spent some time in royal courts.
(2) he was a scholar and gentle observer.
(3) he visited India as a tradesman.
(4) None of the above

43.  Choose the word which is most nearly the same in meaning of the word given below
as used in the passage.

Pay
(1) Offer (2) Settle (3) Remit (4) Reward
44. Choose the word which is mosi opposite in meaning of the word given below as used
in the passage.
Common
(1) Different (2) Rarely (3) Dustinct (4) Separate

THoedT BHRIS W /| SPACE FOR ROUGH WORK
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45. Match the synonyms :
1 I

a. Aptitude 1. Universe

b. Cosmos I1. Decisive

c. Genuine III. Talent

d. Crucial IV.  Authentic

a b c d

(1) III I vV IT

(2) 1II I I vV

3) 1V I II III

4) 1II 1Y I III
46.  Pick out the sentence in comparative degree.

(1) Shakuntala is the best drama in Sanskrit.

(2) Mahabaleshwar is more cooler than Matheran.

(83) Mumbai is more crowded than Pune.

(4) Mumbai is more crowder than Pune.
47.  Identify the word/phrase given below that can replace the word/phrase underlined to

make the sentence meaningful.

- I'reversed my jacket.

(1) upturned (2) changed

(3) overturned (4} turned inside out
48.  Choose the correct reported speech of the following sentence :

She said to me, “Shut the door.”

(1) She said to me to shut the door. (2) She asked me to shut the door.

(3) She told to me to shut the door. (4) She said to shut the door.
49, Choose the correct sentence(s).

a. [ have got Indira’s letter yesterday.

b. Isaw him at the Bhusaval station last month.

¢.  You have met Fatima at the station ?

(1) aonly (2) bonly (3) conly (4) a,bandc
50. Choose the correct alternative for the blank.

I this film four times.
(1) have seen (2) am seeing
{3) was seeing (4) have been seeing
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51. wRarha ik awgrel SRl

(1) 9 a1¢ (2) e Awmft

(3) MR T, T G g&l (4) o= ad

The cause(s) of industrial disputes in India was/were

(1) Increasing wages (2) Demand of bonus

(3) Working hours, leaves and holidays (4) All of the above
52, @t faud faamg =

. cwiartd =R e gome gl

q. PN SATTEAT Herd Yishar ot iy feig s,

%, SeRl AP AR 34 <IHEY g, d Iugqeft S 2.

FeIh! B/ faam/A sy SATR/eTRa ?

(1) FH AT (2) FFAT IS (3) Fad A (4) w9 F

Consider the following statements :

a.  Domestic trade takes place between different countries.

b.  Export and import are the basic processes of international trade.

c. When international trade takes place between two countries it is called

bilateral trade.

Which of the statement/s given above'is/are incorrect ?

(1) aandbonly (2) bandconly (3) aonly (4) conly
53. @rela faum famma =

A, T AR gaeA foeEmiier cum difies wed enfor gfvemr 201 R w5 R,

5. afugd onfimE T Hucis S 99N AWy AmEe e ® w5 TR
&, frew gueis aaTee e Adferer gigatdl fdt sucey w20 @ B amR.
Tt B o st=w 3R ?

(1) FFAAMMIF (2) HF AMNE (3) wIasaOF (4) AT«

Consider the following statements :

a. Providing technological assistance and training to developing countries is a
function of the World Trade Organisation.

b.  Controlling the international trade of crude oil is a function of the Association
of South-East Asian Nations.

¢.  Making funds available for growth of economies of members is a function of
BRICS.

Which of the statements given above are correct 7
(1) aandconly (2) aandbonly (3) bandconly (4) All of the above
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54. 39T W ‘Tl § TEUH @@ .

. foes o= e sfean 9, oagd

¥, Weo® afe sfem g Sl Hvad A

(1) W& 3 (2) TR AN (3) FTRAIAMIF (4) TS
The “Bankers’ Bank” in our country is known as

a. Reserve Bank of India b. Commercial Bank

¢.  State Bank of India d. None of the above

(1) aonly (2) aandbonly (3) a,bandconly (4) donly

55. SN ¥ g %1 B,
. aod il = wet
9. |rhrd s6 guE w1
(1) ad 39 (2) Sea d
(3) =la g (4) TheTieh! AT

A Commercial Bank does the following functions :

a. Function of issuing currency

b. Functions as a banker to the Government

(1) aonly o (2) bonly

(3) Both of the above (4) None of the above

56. R s fagiagan gt faur fomm i
A, ufgeun orawdq srefsgawen WAA T AFTECEl ared,
W gE TAd deEed] 91G JoG B,
%, fow=n saeg wede anftr shenfiehiar e 2.
3. 1921 T WRAH gHT FAET T hel,
Fietradshl v faum st=t 3med ?
(1) HFAFAMMET (2) HFIAUF (3) wE@H AT (4) I &
Consider the following statements according to demographic transition :
In Stage I an economy is primitive and backward.

a
b. In Stage II there is rapid growth of population.

o

In Stage III fast industrialisation and urbanisation takes place.

d. India entered Stage II after 1921.

Which of the statements given above are correct ?

(1) aandbonly (2) bandconly (3) canddonly (4) All of the above
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57. s st wa Fawi=h wen g s smed
3. weweds gd famh ane
9, Tumensk 9q i) ane
(1) wed 3 (2) ®Fa 9
(8) aferdehr Arda (4) 31 7T ¥ G
"The means of credit control of R.B.I. is/are
a. Quantitative measures of credit control
b. Qualitative measures of credit control
(1) aonly (2) bonly
(3) None of the above {4) Bothaandb

58. 2011 =1 AFITAMGE AHHEI] TqT AN HeINfad IS IreAT Are=it ofEl

FGEIETd TG 7T
. Tt wH A I. 2547
9. <=Sre II. 9258
%, Tifg=d IIL. 11320
3. gmafd Iv. 2191
H o < =)
(1) III II I v
2y II III AY I
(3) 1v I 11 I
(4) III v II I
As per the Census of 2011, match the Union territory with the density of population :
Union Territory Density of Population
a. DelhiNC.T. I 2547
b. Chandigarh II. 9258
¢.  Pondicherry III. 11320
d. Daman and Diu Iv. 2191
a b c d
(1) 1III II I IAY
(2) 1I 1 v I
3y Iv I I11 IT
(4) 1III v It I
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59. @rie faus fe=awmd =
3., AW B WRare P deeran ugftg e ama’r
¥, wRame e fFEioETl gEa 1947 7Y F.
%, el gfgean aiffes Fraicmmh sinaaseanit 1978 - 80 Fme Fmel.
Tl wIoR faum e AR 7
(1) SR AT (2) FRISAMUF (3 FFANMUT (4) A &
Consider the following statements :
a. Chief Minister is the ex-officio Chairman of the Planning Commission in India.
b.  In India, economic planning started in 1947.
c. InIndia, first annual plan was implemented in period 1978 — 80
Which of the statements given above are incorrect ?
(1) aandbonly (2) bandconly (3) aandconly (4) Allofthe above

60. Wrdiie e @ET ;

I 7
. gfea smamm @S (IAY) I. 1985 - 86
¥, FEE TSR AT (JRY) II. 1980
F.  TuiSEd I SESITR AT (SGSY) II1. 1999
T Uik W i SR (IRDP) IV. 1989
H q D) -
1y I v I1I IT
(2) 1l I 1I IV
3 I1I I - v I
4 IV IT I IT1
Match the following pairs :
I I
a. Indira Awaas Yojana (IAY) I. 1985-86
b. Jawahar Rojgar Yojana (JRY) II. 1980
Swarnajayanti Gram Swarozgar III. 1999
Yogjana (SGSY)
d. Integrated Rural Development IV. 1989
Programme (IRDP)
a b c d
(1) 1 I\Y III II
(2) III I II v
(3) 1I III v I
(4) IV II I III
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61. RESICIRIES RIS I

(1)
(2)
(3)
(4)

TSATET THE 3R
I S 372
faftnigemn @ am
TSTET AT AT TF AR

The Governor of a State is

(1)
(2)
(3)
(4)

the head of the State

the head of the Government

the head of the Legislature

the head of the State and Government

62. TSI AEIitawdl greaT dEdld @idicdehl Sivd faur sO=t F7g ?

(1)
(2)

(3)
(4)

gt fgedt TeayegR 2.

I AT <Er R Ry it Stoowm swavas owd, Wt orEa
EATSATIS AHU IETIH I,

TS A eTeTdd A g U vl

HefyawdT 9gTeT ST I a9 7Hq).

Which one of the following statements about the Advocate General of the State is

not correct ?

(1)
(2)

(3)
(4)

He is appointed by the Governor.

He must be a person who is qualified to be appointed as a judge of a High
Court.

He holds office during the pleasure of the Governor.
The term of office of the Advocate General is five years.

63. Toegr uiw=an vt afdn wiag vfva wiw sme 2

(1)
(2)
(3)
(4

g FEw st
wfafaa g HREwR i
I9 T& FIFHIG Afeehrl)
EasEanie el

Who is the ex-officio Secretary of the Standing Committee of Zilla Parishad ?

(1)
(2)
(3)
(4)

Chief Executive Officer
Additional Chief Executive Officer
Deputy Chief Executive Officer

Executive Engineer
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64.  UCHR Haer wurgA feurmimder faga feem Sm=n wewnsh de i ?
(1) Ree=aT R deerrea 1/3
(2) uitweea T deer=an 1/6
(3) S THUT HEEHSA 1/2
(4) OYS=T UHUT HEEEAT 1/12

How many number of members are required to be elected to the Legislative Council
by the Graduates ?

(1) 1/3™ of the total members of the Council
(2)  1/6'® of the total members of the Council
(3) 1/2 of the total members of the Council
(4) 1/12%® of the total members of the Council

65. WIS RO €9 3 @ 5 %y, 2017 WM I 903 IfEw AT Wit Wigea FheA
i 7
(1) HuH
(2) Sifsaelt
(3) wHaE
4) @
At which of the following places was the 90t Akhil Bharatiya Marathi Sahitya
Sammelan held from 3™ to 5t Feb. 2017 ?
(1) Ghuman
(2) Dombivali
(3) Saswad
(4) Thane

66. TAAYE Tl o WRA G&R 9 4T THIA Sidd] 9 T wuge @l Feft ?
(1) 1962 (2) 1950
(8) 1972 (4) 1955

In which of the following years, was the Treaty of Peace and Friendship signed
between the Government of India and the Government of Nepal ?

(1) 1962 (2) 1950
(3) 1972 (4) 1955

FOET BT ST / SPACE FOR ROUGH WORK P.T.O.
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67. ‘03 %2 gl I YRS 3L 3. .

(1) o st 2wiEea s 9 i g6 e

(2) YiaggE Sew=qol YR St

(3) v eivwEna dwe ami fawam s

(4) <7 Hied T3ma dey T

The object of ‘Look East’ policy is

(1) To increase trade and cultural relations with East Asian countries

(2) To play an important role in the Cold War

(3) Strategic extension in East Asian countries

(4) Strengthen relations with China

68. G ITUZ (OBOR)YHET & 1 SYT=H1 ATHATH] AEIHIE HrIshA 312.
(W @ #m |
(3 ¥ (4) e
‘?ne Belt One Road’ (OBOR) project is an ambitions programme of the Government
o
(1) India (2) China
(3) Iran (4) Sri Lanka

69. ‘TIA.TE. I I YT GO O WU AlBES S, § BT G T ?
(1) SRS (2) HEITEEH
(3) IS (4) i

In which country is the ‘AIF Dam’, formerly known as ‘Salma Dam’ situated ?
(1) Bangladesh (2) Afghanistan

(3) Nepal (4) Pakistan
Feeg] TS SN / SPACE FOR ROUGH WORK
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70. Gl S G g1 ‘wgaefta it i afiE wewEiEdl s (BIMSTEC) 91 #66
781 ?
(1) wifkEe (2) @A (3) TMAR (4) AU
Which one of the following countries is not a member of the Multi-Sectoral
Technical and Economic Cooperation (BIMSTEC) ?
(1} Pakistan (2) Bhutan (3) Myanmar (4) Nepal
71. s Jesar
~refd I Fo T
- el Gl
C A S I I Fasa
5. . Tfgeft II. #gE
®. 3o aeff . g
g et m V. bt
<) C) h S
1) I II I v
(2) IV III IT I
3) IV IT JH1 I
4y IV I II I
Match the pairs :
Justice Chief Justice of
which High Court
a. Manjula Chellur I.  Calcutta
b. G. Rohini II. Madras
c. Indira Banerjee ITII. Delhi
d. Nishita Mhatre IV. Mumbai
a b c d
(1 1 11 III v
(2) IV III II I
3 IV I1 III 1
4) IV I II I11

FET HRIGIY AN | SPACE FOR ROUGH WORK
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72. il BT T sl ST SR ST R S e R 7
(1) HrEag feran (2) @R T A€
(3) g =t HAfE (4) FTGEWTE qEET
Who amongst the following was appointed as the Chairman of the ‘National
Commission for Scheduled Castes’ ?
{1) Mohanbhai Kundaria {2) Sanwar Lal Jat
(3) Ram Shankar Katheria (4) Mansukhbhai Vasava
73. T2 2017 - 18 WY T 3 = WA WieAdehl 1 A7gt ?
(1) &S TurEeT AT Fd=n fad T aaaﬁr
(2) foew deum oy F0,
(3) JFh AN FHPId GHMT HBAH a»-{@r.
(4) W=TER 9 F11 dwe e
Which of the following is not the object of ‘TECH INDIA’ in the Budget 2017 - 18 ?
(1) To change the quality of governance and livelihood of public.
(2) To strengthen foreign relations.
(3) To strengthen the youth and weaker sections of the society.
(4) Eradication of black money and corruption.
74.  “Turs o T AT SVl STET 9ATaY A7 ?
(1) wefren AEm =g @x Fuss
(2) FF= 18 W QU FeATHR 50% @HA T a Toamardt sea 3
(3) 3t 14 T9 Ia7A1 w1 TRATE
(4) fwum2d T 100 a7
Which is not included in the “Pradhanmantri Sukanya Samriddhi Yojana” ?
(1) To open savings account in the name of girls
(2) 50% of amount can be withdrawn for marriage and education of a girl after
completion of 18 years
(3) Deposits can be made for 14 years
(4) Minimum depbsit is T 100
75.  TOU J A9 104 IUUE STREIN HIGT P SR IHTH A ?

(1) == (2) wmfemA U, (3) U (4) wi|
Which country’s record is broken by ISRO by launching 104 satellites ?
(1) China (2) USA (3) Russia (4) France

Foed] HITTEY ST / SPACE FOR ROUGH WORK
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76. <. SIEERS AeehHUH! fiued Tsghe GtigR qudd qAAud wiv TEIfaEed g% ol ?
(1) fufer merferme™ (2) UfFReT wETeEe
(3) Trgrd werforae™ (4) wETedl Yot HeTirer
Which of the following colleges was started at Mumbai by Dr. Babasaheb Ambedkar
through the People’s Education Society ?
(1) Milind College (2) Elphinstone College
(3) Siddhartha College : (4). Mahatma Phule College
77. T SAV R AER Helaamerd e svarad! 56 wsfaet g ?
1 ges (2) weteh (3) T9HIE @ W=
Where was Rajarshi Chhatfapatti Shahu Maharaj sent for his higher education ?
(1) Mumbai (2) Calcutta (3) Rajkot (4) Baroda
78. 3. 9. 1919 U At ARl IS H¥E Fd IMT BT GEHR Ee gian ?
(1) wEmeH (2) Hwufeg
(3) wma T (4) et
Which award was given to Maharshi Dhondo Keshav Karve in 1919 by the
Government ? _
(1) Mahatma . (2) Kaiser-i-Hind
(3) Bharat Putra (4) Maharshi
79. A FEAHAEER Gl Seie el 0 ;
. sfem e
¥, 9 FEITEH
%, O WSS gl

€. HgH HEEA 991
(1) 9,%, 3,8 (2) a,9,%, 3 3) §,%, 8 A 4) 8,%,9, A

Arrange the following associations in correct chronological order :

a. Indian Association

b.  Bombay Association

¢.  Pune Sarvajanik Sabha

d. Madras Mahajana Sabha

(1) b,c,a,d (2) a,b,e,d (83) b,c,d,a (4) d,eb,a

FTqT FHIMTS! AT / SPACE FOR ROUGH WORK P.T.O.
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80. B T gaaTg] T SNSEd .

(1) e fager e (2) "Ie 0 vgE

(3) fosupemred dfsd (4) TIITGE TN FHHL

was commonly known as Lokhitawadi.

(1) Govind Vitthal Kunte (2) Gopal Hari Deshmukh

(3) Vishnushastri Pandit (4) Gopal Ganesh Agarkar
81, WU FEH T §fedr S WRAT SO AR SvaT qERigi ST ST 2

(1) = 3% 1813 (2) =& e 1833

(3) <& 3 1853 (4) <R IFF 1873

Which Act ended East India Company’s monopoly over trade with India ?

(1) The Charter Act of 1813 (2) The Charter Act of 1833

(3) The Charter Act of 1853 (4) The Charter Act of 1873
82. ‘Jgg W I & gy Hi feeft

(1) T TW 98 (2) T fodwmEe

(3) TAHZ Tl (4) Sf. STCORMA AIgT

Who gave the call ‘Back to the Vedas’?

(1) Raja Ram Mohan Roy (2) Swami Vivekanand

(3) Dayanand Saraswati (4) Dr. Atmaram Pandurang
83. THEA JdB HIU GE whell ?

(1) 3 931 9 A Kok

(2) TR TirEe 9 3 9

(3) 1. TR 9 A s

(4) g AR F o wsie

Who started the Home Rule Movement ?

(1)
(2)
(3)
(4)

Annie Besant and Lokmanya Tilak
Namdar Gokhale and Annie Besant
Justice Ranade and Lokmanya Tilak
Dadabhai Naoroji and Annie Besant

FHoeg] HITATS! SR / SPACE FOR ROUGH WORK
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84, TEY AES T Ju$d TUA FHeiel! HIFTR HEAT Hivrdt 2
(1) = |t geA (2) @i T sEfaeH
(3) afra gierd gfrae (4) e firer 48 owifeH
Which workers association did Narayan Lokhande establish in Mumbai ?
(1) Bombay Labour Union (2) Bombay Workers Association
(3) Bombay Hawkers Union (4) Bombay Mill Hands Association
85.  SAeTIeA IBET TEITdhl HIol Foga ?
(1) it fam (2)  mih AT
(3) Zaa f&m (4) e B
| Who from the following was not a part of Ambapani revolt ?
(1) Kaji Singh (2) Bhagoji Naik
(3) Daulat Singh (4) Kalu Bhiva
86. o= AW I T B AT HIT IS,
(1) TR ST g (2) dEITEH HIHI
(3) =M. TIR (4) wfesh et
, Phule’s neighbour forced him to go to school.
(1) Gafar Beg Munshi (2) Sarvajanik Kaka
(3) M.G. Ranade (4) Sadiq Ali
87. 7 1912 wia sreqvaTEdt 23 e IS AT AT e TEHPETS Bt
(1) 7. Hia. AeER (2) g AR
(3) fagau. (4) e
Up to 1912 established 23 schools for the untouchables and some of them
were out of Maharashtra.
(1) Dr. B.R. Ambedkar (2) Shahu Maharaj
(3) Vitthal R. Shinde (4) Jyotiba Phule
88. fefew wre@ a1 HrTRISTEE IV FEET HAT BT 2
(1) Pt ofae (2) @ e
(3) =ées W e (4) SO FomE TE

Which of the following acts was made for Child Labour during the British
period ?

(1) The Factory Act - (2) The Labour Act

(3) The Child Lahour Act (4) None of the above

ool HIFRITS! IR / SPACE FOR ROUGH WORK P.T.O.
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89.  NRAIT HEFGN 9gd R & hell ?

(1) =t st (2) e g

(3) it F3H (4) wE BT

Who started the Permanent Land Revenue System in India ?

(1) Lord Dalhousie (2) Lord Hastings

(3) Lord Curzon (4) Lord Cornwallis
90.  wwi 4Y Feirvs wenim FERY T Fh e 2

(1)  FH yrta i (2) i fage wsh iR

(3) WETHI SUdET Gt (4) Wedl uis HIE H9

Who established the ‘Depressed Classes Mission’ in Mumbai ?

(1) Karmveer Bhaurao Patil (2) Karmveer Vitthal Ramji Shinde

(3) Mahatma Jyotiba Phule (4) Maharshi Dhondo Keshav Karve
91, oIS I=Td IV qUiH el IR ?

H. =T IH 6 W& 1837 €1 HTEAGVT I AT

. d ¥q=s faendery vl g afeew §9 79 B

F. WM SN AT, ST, ShogrE ool geha A oy sae g

s 1882 v we TgEd qTeN Se ARl Gihd< NI FEUA Wil gl A
TZEle d Yfger WAIg B,

(1) .. A (2) WI.B. WIEd

(3) T, WigR (4) HLA. I

Whose description is given in the following sentences ?

a. He was born on 6 July 1837 at Malvan. _

b.  He belonged to the first batch of graduates from the University of Mumbai.

¢.  He was interested in the study of English language and literature, History and
Sanskrit.

d. He was appointed as Professor of Sanskrit at the Deccan College at Poona in
1882. He was the first Indian to hold this post.

(1) G.G. Agarkar (2) B.H.Bhagwat
(3) R.G. Bhandarkar {4) KUT. Telang

FHoedT HIARITE! SN | SPACE FOR ROUGH WORK
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92. 2011 =41 FRHIAR HERISEIS Gieliel fNeg TehaeEa SHdoa1 Iaedl HA o
(1) YE e — IO — G IR -
(2) Y&§ ITR — Ga§ & — TN — 3Tl
(3) Hwd YR — g3 E — IO — A
(4) TFS ME — YaS ITAN - 30 — 0

As per 2011 Census, arrange the following districts of Maharashtra in descending
order as per their population density :

(1) Mumbai City — Thane — Mumbai Suburban — Pune
(2) Mumbai Suburban — Mumbai City — Pune — Thane
(3) Mumbai Suburban — Mumbai City — Thane — Pune
(4) Mumbai City — Mumbai Suburban — Thane — Pune

93. iU At RIS UEo @ febd} o1rg 2
(1) 300 %4,
(2) 350 fed.
(3) 720 f&H.
(4) 382f5H.

What is the total length of the Konkan Railway in Maharashtra ?
(1) 300 km
(2) 350km
(3) 720km
(4) 382km

94, WA YRATIS Faid A1 e qvar HId JUET H1E ?

1) == (2) fimam

(3) TH HIR (4) T

Which of the following is the largest fresh water lake in India ?
(1) Dal (2) Bhimtal |
(8) Hussain Sagar (4) Wular

oA HHTATS! T / SPACE FOR ROUGH WORK P.T.O.
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95.  iSdl T :
Hla o= s
H  FHEER L e
9. WMEH 1. e
CRCE G 1. fayg
8. TGS Iv. go
H q Ed ]
(1) 1 II 111 v
(2) 1I inig v I
(3) 1II I v I1
4) IV 111 11 I
Match the following :
Places of Heavy Rainfall Districts
a.  Amboli I Raigarh
b. Matheran I Kolhapur
c. Khandala III.  Sindhudurg
d. Gaganbawada V. Pune
a b c d
(1) 1 II III v
2) 11 I1I v I
(3) 1 I IV 11
4 IV 111 II I
96.  WIEAICshl HIVT T WRATHT §aTd T Jo9l SHT9eT 3Tg ?

(1) =1 g : (2) deet ga

(3) AT (4) vadE A

Which of the following types of soil covers the highest total area of India ?
(1) Black sail (2) Red soil

(3) Alluvial soil (4} Mountain soil

oell HETAS! ST / SPACE FOR ROUGH WORK



97.

27 ' wo9

2011 GIeT=AT SFTVFTHR WRATSAT HIVT AT Qiehteas! Haid HHt 93T a1 ?

(1) fafenn (2) T

(3) VTR YW | (4) THEEB

Which State of India had the lowest density of population in the 2011 Census ?
(1) Sikkim (2) Goa

(3) Arunachal Pradesh (4) Chhattisgarh

98.

GIefieh! T T G Tanrsgd §& 3R ?

(1) e f=m (2) b e

3) fafedt fimm 4 foaw =

Which of the following is the prime source of irrigation in Maharashtra ?
(1) Canal irrigation (2) Lake irrigation

(3) Well irrigation (4) Lift irrigation

99.

e T YT W, 36 Uedl 9 gaye 31T,

. e T8 TeElq 9TEd.

9. T @ G s EE o e S A,

®.  FIEL, qER, W, 741, G, e a1 S aea.

Flieteh! Hord/d faam/A st s/ 2

1) A 2 wFRAMMT (3) wEATNUF (4) A

- The Narmada river has deep, narrow gorges and waterfalls.

a. It flows through the rift valley.

b.  The eastern basin of Narmada has more rainfall than the western basin.

¢.  Burnhar, Banjor, Sher, Tawa, Hirna, Barna are the tributaries.

Which of the statements given above is/are correct ?

(1) aonly (2) aandbonly (3) bandconly (4) Allofthe above

100.

RIS HEld o8 T et siorear 2umeft aedsdl g ?

(1) rerew (2) =R

(3) T | (4) wRE=H

The shortest border that India shares is with which of the following countries ?
(1) - Bangladesh (2) Myanmar

(3} Afghanistan (4) Pakistan
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(8) wriyfaewmed fafgd e fafire srfle =2 wm (% a%) =@, TeyfGehfaied Iamiterat o1 30
FREER Fd HH HoaTH d HiU I ILHH HA AR, F g A § FHER IHEAG A&
It e whmmel g RysRi Yaey FEEEae Afufem-82" I WaEgEn wraEn
FgIT I T A sTRf FATH U ani=n wramEreat it/ R S99 us B9R WhH=AT detean g
U .

(9) W FEUBEREd S fafgd Foeh 92 ducaH@ Feamen € Yt A et TR
TS A TEE R, W THeTRETETR WA E] SHEAWH  HTedT IAvgiiehET WRI-1
QHAIHTHE 7 TeroraT v =t sTava g,

0. %. 201.

9. %. 201.

Cile GRS
T 9Te T2 FETEE! Sivf e s #et ?
(1) [ AHE FEEad 2 g e
(3) T UHAIEA A (4) TITSHST TES

WA ARG I (3) TS UWHIEH TA I AR 9D IT TR I C(3)7 B,
IJHEqd GITHASHT W99 . 201 §ARE ITwAs (@) R ades O TR e
Al STTETIE AR

@ @ @ ©

A g+ Wgd TRl Yo TR gEEl Jul-ATE 81 grelen ool feeten
IRl T 1 FEHHHENRE qeivg a4 (U0 SEfhd HE grEadl. gk
T HTedl WIS Fredq aatd, 9f=ee =1 s o /e o,
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